CONFIDENTIAL & PROPRIETARY

All data contained in this document is Sole property

of DRY SYSTEMS TECHNOLOGIES and is considered
confidential and proprietary.

This document may not be reproduced, released to
third parties, or used for purposes other than for which
it was furnished, without express written consent of
DRY SYSTEMS TECHNOLOGIES.

This document remains property of DRY SYSTEMS
TECHNOLOGIES and must be retuned upon request.

M250-510-01
Starter, Air
M507-682-01
Muffler, Air Starter

M500-211-11

Cummins Model 8.3T

Mining Engine

MSHA Part 7E-A Approved

185 HP, 165 HP @ 2,200 RPM

M287-706-01
Shroud

M287-707-01

M250-532-01
Kit, Extended Dipstick
(not shown )

D

Guard |
M502-585-01
g Hour Meter, Vibratory
| — M502-585-02
\ / Bracket, Vibratory Hour Meter
L
{L/ M250-549-01
L / Fan Clutch, 2 Speed
. b 4 l‘/// |~ mant-715:30
Fan 32 Pusher
@ o ® e o ® (]D ) /
//
Q @~ 1A Q & 1 M350-265-01
© O / Guard, Belts
5 B L]
' M287-705-01C
Radiator Assembly Complete
~1 N Includes:
M294-705-01 Radiator
M287-706-01 Shroud
Ve TF | p— M287-707-01 Guard
O Y s < \ M294-745-01 Charge Air Cooler
N ) o j] M294-705-01
')\\\ Radiator
,\ Q . o
k, M294-745-01
L) Charge Air Cooler
\I_Il_g/
M290-540-01
Injector, Water Cone Spray
Incuded in M30-531-01 Kit
DESCRIPTION NO REQD
[n(:le-:rﬁ l?rrllecsEssnoted DRY SYSTEMS DST TOPVIEW - 355
SCALE DATE DRAWN BY
Machined: £0.005 TECHNOLOG'ES FULL Feb 24 2015 Ward Fox
Fabricated: +0.02 8102 LEMONT ROAD, SUITE 700 | vern: APPROVED BY

Angular; =1/2°
Surface finish 125

WOODRIDGE, IL 60517
Phone: 630-427-2051 Fax: 630-427-1036

REV [DATE | NAWE | DESCRIPTION

E-Mail: eng@dr com

DRSA(‘EN?N(E)&taiI Drawings
SECTION 2-02 #1



CONFIDENTIAL & PROPRIETARY

All data contained in this document is sole property

of DRY SYSTEMS TECHNOLOGIES and is considered

confidential and proprietary.

This document may not be reproduced, released to

third parties, or used for purposes other than for which

it was furnished, without express written consent of

DRY SYSTEMS TECHNOLOGIES.

This document remains property of DRY SYSTEMS (1) M40-596-01 (1) SEE TABLE

TECHNOLOGIES and must be returned upon request. (1) Flameproof Port Water-cooled Catalyst é(til)JdMQO-371-14
(6) M600-109-01
0.56 Hex Nut 3/8-16
9.75 9.75 441+ (6) M600-123-01
/ Lock Washer, 3/8 @

imul

I /— (1) M250-241-01
) Water-Cooled Elbow

| 13.25
(6) M515-500-06
(1) M250-232-31 Socket Head Cap Screw 3/8-16 x 1
(1) Outlet Gasket (6) M150-538-01
e Hi Collar Lock Washer, 3/8 @

(1) M250-205-01 :

(1) Bellows O Pipe Plug O

Both Sides: (1) M90-372-02 D) (1) M332-301-11

(6) M90-371-13 Water Connector o o u /_ Heat Exchanger

Stud (3) M503-507-01 L~

6) M600-109-01 18.50

( Hex Head Cap Screw 3/8-16 x 1

(6) M600-123-01 Lock Washer, 3/8 @

Lock Washer, 3/8 @

T
)

Components downstream of the
—1 Heat Exchanger are not shown in

this drawing
17.00
HP VENT RATE CATALYST The Cummins Diesel Engine, Water-cooled
185 HP 13,500 CFM M90-218-02 Exhaust Manifold and Water-cooled Turbo-
185 HP 10,000 CFM M250-260-01 charger are not shown in this view
165 HP 9,000 CFM M250-260-01
. TOLERANCES DESCRIPTION NO REQD
Cummins 8.3 Turbo Linear unless noted DRY SYSTEMS st E)E:IEAUST ENOVIEW - 355

Machined: +0.005 TECHNOLOG'ES FULL Feb 24 2015 Ward Fox

Fabricated: +0.02 8102 LEMONT ROAD, SUITE 700 [~ FFROVED 57

Angular; 1/2° WOODRIDGE, IL 60517 U

SUrface fmlSh 125 REV | DATE NAME | DESCRIPTION Emﬁ:figﬁ?-zw s 63r0r;:27-1036 SECTION 2'02 #2




CONFIDENTIAL & PROPRIETARY

All data contained in this document is Sole property

of DRY SYSTEMS TECHNOLOGIES and is considered
confidential and proprietary.

This document may not be reproduced, released to
third parties, or used for purposes other than for which
it was furnished, without express written consent of
DRY SYSTEMS TECHNOLOGIES.

This document remains property of DRY SYSTEMS
TECHNOLOGIES and must be retuned upon request.

(8) M515-500-04
Hex Head Screw 3/8-16 x 1.75

(8) M503-507-01
Hex Head Screw 3/8-16 x 1

(1) M281-430-01

(8) M600-109-01 (8) M600-123-01 FILTER HOUSING
Hex Nut 3/8-16 Lockwasher 3/8 @ (1) M30-411-01R
(8) M600-123-01 (1) M250-541-01 FILTER ELEMENT
Lockwasher 3/8 @ SPRINKLER HEAD Ref SEC 2-03
qTH The Cummins Diesel Engine, Water-cooled
Exhaust Manifold and Water-cooled Turbo-
(1) M90-122-01 charger are not shown in this view
EXHAUST ELBOW
(6) M90-371-14
Stud
(6) M600-109-01 (
Hex Nut 3/8-16
(6) M600-123-01 BB Al
Lockwasher3/80 | T b %
[] \ (1) M90-501-11
[ 4 I FLAME ARRESTOR
E (1) M90-133-01
p COPPER GASKET
D
D
e —J
‘\(1) M302-301-11
HEAT EXCHANGER
Components upstream of the
Heat Exchanger are not shown
. . . DESCRIPTION NO REQ'D
in this drawing Iiggmecsisnote ] DRY SYSTEMS | psrextausT sibeview - 358
Machined: £0.005 TECH NOLOG'ES s;ﬁELL DAFT;b 242015 D“v&‘ﬁ??mx

Fabricated: +0.02
Angular; =1/2°
Surface finish 125

Cummins 8.3 Turbo

8102 LEMONT ROAD, SUITE 700

WOODRIDGE, IL 60517

Phone: 630-427-2051 Fax: 630-427-1036

REV

DATE NAME | DESCRIPTION E-Mail: eng@dr com

MATERIAL APPROVED BY

DRSSV?NE&taiI Drawings
SECTION 2-02 #3




	2-01 M500-211-11 #1.pdf
	Sheet1

	2-01 M500-211-11 #2.pdf
	Sheet1

	2-01 M500-211-11 #3.pdf
	Sheet1

	2-07 ENGINE OIL SYSTEM.pdf
	Sheet1

	2-11 35S COOLANT HOSING.pdf
	Sheet1


